
  

   1زبان انگليسي 

Part A: Grammar & Vocabulary 

1- Astronauts ..................... the spaceship as soon as it lands on the moon. 

1) left 2) leave 3) will leave 4) were going to leave 

 

2- A: Excuse me, where is ..................... Room 25, please? 

B: It’s on ..................... second floor. 

1) - / - 2) the / the 3) - / the 4) the / - 

 

3- In the twentieth century, healthy people mostly live out their natural ..................... and die of old age. 

1) environment  2) lifespan 3) schedule 4) formation 

 

4-  It is ..................... knowledge that swimming is one of the best forms of exercise. 

1) various 2) meaningful 3) common 4) strategic 

 

5- They put a weather satellite into ..................... round the earth. 

1) order 2) planet 3) ring 4) orbit 

 

6- He works for a ..................... organization that provides help for homeless people. 

1) voluntary 2) destructive 3) expressive 4) visible 

 

7- Her skill as a teacher is ..................... her understanding of young people. 

1) based on 2) identified by 3) filled in 4) protected by 

 

8- Now that the problem has been identified, ..................... action can be taken. 

1) average 2) appropriate 3) amazing 4) regular 

 

Part B: Cloze Test 

According to some experts, the younger people are basically …(9)… from the older ones. The old do not 

understand all the problems of the modern …(10)… .  

On the other hand, the younger people have grown up with these problems and are deeply concerned about 

them. The older people still control the business organizations, government and education. The younger people 

want to make changes in these …(11)… to fit the needs of modern society. In order to put an end to their 

differences, both the older and younger people should realize that the world has changed, and new responses 

are …(12)… for many problems of the society. 

9- 1) important 2) free 3) helpful 4) different 

10- 1) planet  2) earth 3) plain 4) world 

11- 1) reports 2) areas 3) ideas 4) patterns 

12- 1) necessary 2) especial 3) simple 4) personal 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Part C: Reading Comprehension   
Gary Smith yesterday celebrated his 18th birthday, and he’s so happy to be alive. In March this year, he was 

climbing Ben Nevis, Britain’s highest mountain, when he lost his way and spent three days in freezing air. 

“My friends laughed at me for having so much equipment, but it saved my life.” 

On the first night, the weather was so bad that he moved into a nearby house for the night. He left the 

house at 10 the next morning, but he was soon in trouble. “I fell off a rock and hurt my knees. I couldn’t move.” 

Mountain rescue teams went out to look for Gary, and found him at 1 in the morning. A helicopter took him to 

hospital, where he had several operations. 

“Next time I’ll go with my friends, not on my own!”, he said. 

 

13- Gary Smith spent three days in freezing air because he ..................... .  

1) couldn’t find the right way in the mountain 

2) left the house too early in the morning 

3) lost his equipment on the way 

4) wanted to celebrate his 18th birthday 

 

14- If it were not for his ....................., he would be dead now. 

1) operations 2) knees 3) equipment 4) friends 

 

15- On the second day, Gary could not go further anymore because ..................... . 

1) he had chosen the highest mountain 

2) he had been physically injured 

3) the weather was terribly cold 

4) the rescue teams took him to the hospital 


